Virginia High School League Regional Competition, 2000-01 season

Match #3


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the Region level by Shawn Pickrell. These questions are to be used by individual Regions to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
THIS IS A COMPUTATION QUESTION. A man buys computers from a mail-order catalog for $1,500 each. He can buy an annual membership to the catalog’s ‘value club’ for $350 and receive a 5% discount on all goods. How many computers will he need to buy to completely recoup his membership fee?

ANSWER: 5 (He receives a $75 discount on all computers. After 5 computers he has saved $375.)

2.
What type of formula gives the ratios of the numbers of atoms in a molecule of a compound, as opposed to the raw numbers of atoms in a molecule of a compound?

ANSWER: EMPIRICAL formula

3.
His books that are not about a desert planet include Dragon In The Sea, The Green Brain and The God Makers. Who is this science fiction writer that is also known for his classic about spice and the planet Arrakis, also known as Dune?

ANSWER: Frank HERBERT
First period (continued)

4.
The Truman Doctrine was applied to halt the spread of Communism in what two countries, which are now fighting over islands in the Aegean Sea?

ANSWER: GREECE and TURKEY
5.
The international war crimes tribunal for events that occurred in the Yugoslav civil war is being held in what Dutch city, also the home of the World Court?

ANSWER: THE HAGUE, Netherlands

6.
The ‘sheperd-kings’ of Egypt were members of what loose confederation that ruled between the Middle and New Kingdoms?

ANSWER: HYKSOS
7.
Linda On My Mind, It’s Only Make Believe and Tight-Fitting Jeans are two of the hits from what legendary country artist with literally dozens of #1 hits?

ANSWER: Conway TWITTY
8.
THIS IS A COMPUTATION QUESTION. How long does the edge of a cube need to be for its surface area and volume to be equal?

ANSWER: SQUARE ROOT OF SIX (Surface area: each face is 6 square units -- Sqrt(6) * Sqrt(6). Surface area is 36 square units. Volume is the square root of six cubed – 36)

9.
If two or more gases are not reacting, the pressure exerted by all the gases is the sum of the pressures of each individual gas. This is an example of what law, first proposed by John Dalton?

ANSWER: Law of PARTIAL PRESSURES 

10.
What five-letter word can alternately mean a stem or main axis of a herbaceous plant, to move threateningly, to go through in pursuit of game or other quarry, or today to contact to the point of pain for the person being contacted?

ANSWER: STALK

First period (continued)

11.
This term was coined by Gertrude Stein, was used to apply to American writers who left the US and established their literary reputations abroad, and was given due to their spiritual alienations from what they saw as a hopelessly provincial country. What is this term that includes writers such as Hemmingway and Fitzgerald?

ANSWER: LOST GENERATION
12.
Prime Minister twice, once in 1868 and again from 1874 to 1880, he was a great enemy of William Gladstone. Who was this 19th-century political figure, who converted from Judaism to Christianity at age 13?

ANSWER: Benjamin DISRAELI
13.
Who killed the Chimera, tamed the Pegasus but was died while trying to use the Pegasus to attack Mount Olympus?

ANSWER: BELLEPHERON
14.
THIS IS A COMPUTATION QUESTION. What is the area of a right triangle with one leg measuring 10 square roots of three and a hypotenuse of 20?

ANSWER: 50 SQUARE ROOTS OF THREE (the first leg is 10, as 10 square roots of three squared is 300, the hypotenuse squared is 400, the other leg squared is 100. The other leg is therefore 10. 10 multiplied by 10 square roots of three is 100 square roots of three, divided by two yields 50 square roots of three.)

15.
In the early 20th-century the sources of this type of air pollution were particles of smoke and soot preventing sulfur dioxide and carbon monoxide to escape. Currently, the photochemical type of this pollution, also known as a heat haze, where car and industrial exhaust reacts with sunlight, is the problem, especially in cities such as Athens and Los Angeles. What is this form of low-lying air pollution?

ANSWER: SMOG
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What destructive insects are also known as ‘white ants?’

ANSWER: TERMITES
1B.
What Verdi opera was written to celebrate the opening of the Suez canal?

ANSWER: AIDA
2A.
THIS IS A COMPUTATION QUESTION. How many factors of 4 are between the numbers 300 and 310, inclusive?

ANSWER: THREE (300, 304, 308)

2B.
Who is the man, known as “The Pathfinder”, that in 1856 ran as the first Presidential candidate of the Republican Party?

ANSWER: John C. FREMONT
3A.
What is the following sentence in the passive voice. ‘The members elected John president of the club’?

ANSWER: JOHN WAS ELECTED PRESIDENT OF THE CLUB BY THE MEMBERS or JOHN WAS ELECTED BY THE MEMBERS PRESIDENT OF THE CLUB (accept most things with WAS ELECTED BY)

3B.
What function is the second derivative of the position function?

ANSWER: ACCELERATION
4A.
The Indus valley, site of many ancient civilizations, lies mostly in what modern-day country?

ANSWER: PAKISTAN
4B.
What name is given to the two dots put over some German vowels and favored by rock bands in their names?

ANSWER: UMLAUT
Second period (continued)

5A.
Who is the French Romantic composer that wrote the Symphonie Fantastique?

ANSWER: Hector BERLIOZ
5B.
What type of energy is simply the energy of position?

ANSWER: POTENTIAL
6A.
Two electrons with the same spin cannot inhabit the same orbital. What is this principle of atomic structure?

ANSWER: PAULI exclusion principle

6B.
The Koran placed limits on polygamy, stating that a man can only have how many wives at one time?

ANSWER: FOUR
7A.
What is the name of the function that, for a number x between 0 and 1, yields the angle T for which x = sin T (x equals the sine of T)

ANSWER: ARCSINE
7B.
Who was the Canadian Prime Minister that is best known for negotiating NAFTA with the United States and Mexico in 1992?

ANSWER: Brian MULRONEY
8A.
Who is the beloved of Cyrano de Bergerac (berr-ZHER-ak)?

ANSWER: ROXANE
8B.
THIS IS A COMPUTATION QUESTION. Take line segment AB that runs between (3,4) and (-5,6). Then take line segment CD that runs between (0,3) and (4,-5). What is the slope of a line between the midpoints of those line segments?

ANSWER: NEGATIVE TWO (Midpoint of AB is (–1, 5). Midpoint of CD is (2,-1). The slope is –1 – 5 / 2 – (-1) = -6 / 3.)

Second period (continued)

9A.
George Washington crossed the Delaware River on Christmas 1776 in the battle to recapture what town from the Hessians?

ANSWER: TRENTON
9B.
Who wrote the novel Tom Jones?

ANSWER: Henry FIELDING
10A.
Prison officials in this state could get fired over the escape of seven in December 2000 from a maximum-security prison in what state?

ANSWER: TEXAS
10B.
What name is given to a compound that has a radioactive isotope inside it, placed inside the body specifically to ‘tag’ the progress of the compound in the body?

ANSWER: radioactive TRACER
Third period: 15 toss-ups

1.
Hipparchus was the first to notice this property, assigning every star a value from 1 to 6. In 1856, it was given a logarithmic progression where negative values, such as that for the sun, are possible. What is this property that measures the brightness of a celestial object?

ANSWER: MAGNITUDE
2.
He ran away to town when hunters shot his mother. However, he returned to the forest, becoming king of the forest. Jean de Brunhoff and later his son Laurent created what fictional non-lion animal king, the husband of Queen Celeste the elephant?

ANSWER: BABAR the elephant

3.
THIS IS A COMPUTATION QUESTION. A soccer goal is built 8 yards wide and 8 feet high. On this field, the goal is set up as a box that is 8 feet deep. Remembering that the bottom of the goal is the ground, and the face of the goal must be open, how many square feet of netting is required to make this goal?

ANSWER: 512 square feet (as both height and depth are the same, this is a ‘rectangular sold’ with four sides the same size – 24 x 8 and two the same 8 x 8. There are two 24 x 8 sides each 192 square feet and two 8 x 8 sides each 64 square feet. 192 + 192 + 64 + 64 = 512)

4.
This High Renaissance painter painted a giant painting that included such greats as Plato, Aristotle, Ptolemy, Perugino and Zoroaster, including himself in a distant corner of the painting. Who is this painter of The School of Athens?

ANSWER: RAPHAEL
5.
This war was not only between France and the Hapsburgs, it was also between Protestants and Catholics. A roving band of Swedish mercenaries was also involved, pillaging through Germany, which was pretty much ruined from the war. Finally, it all ended with the Peace of Westphalia. What is this 17th century war that was named for its duration?

ANSWER: THIRTY YEARS’ WAR
Third period (continued)

6.
Despite putting up relatively unspectacular numbers – 17 of 28 for 206 yards, he was named the MVP of Super Bowl III. It might not have been his game performance that did the trick – rather a promise he made before the game, guaranteeing that his team would defeat his heavily favored opponents, the Baltimore Colts. Who was this New York Jets quarterback?

ANSWER: Joe NAMATH
7.
The landlord files and wins a lawsuit known as an ‘unlawful detainer’. At that point, a sheriff’s deputy or other law enforcement representative ensures that the current tenant is removed from the property. What is this process by which a landlord may remove a tenant called?

ANSWER: EVICTION
8.
This quartet of novels by T.H. White was published as a single volume in 1958. What is this collection which contains The Candle in the Wind, The Queen of Air and Darkness, The Ill-Made Knight and The Sword in the Stone, a retelling of the Arthurian legend?

ANSWER: THE ONCE AND FUTURE KING
9.
Watson and Crick discovered that strands of DNA take what shape?

ANSWER: DOUBLE HELIX
10.
What is the ASCII (ass-KEY) value of the capital letter ‘A’?

ANSWER: 65
11.
What bone passes around the thorax from the vertebral column to attach indirectly, via the costal cartilage, to the sternum, a bone of which there are 22 to 24 in the body?

ANSWER: RIB
Third period (continued)

12.
This philosopher wrote the book Emile on education. He wrote Discourse on the Origin and Foundations of Inequality where he expressed his idea of the “noble savage,” corrupted by modern life. Who is this Frenchman that also wrote the Social Contract in 1762?

ANSWER: Jean-Jacques ROUSSEAU
13.
What is the 1867 act that prohibited the President from removing officers approved by the Senate without Senate approval that was used as the precise law Andrew Johnson violated when he was impeached?

ANSWER: TENURE OF OFFICE ACT
14.
Along the journey, the main character rescues Aouda, a Hindu widow, from the suttee and eventually marries her. The main character is pursued around the world by Fix, who believes that main character Phileas Fogg is a bank robber. Using trains, steamers, elephant and sail-sledge, Phileas is able to circumnavigate the world and clear his name in what Jules Verne novel within the deadline noted in the title?

ANSWER: AROUND THE WORLD IN 80 DAYS
15.
THIS IS A COMPUTATION QUESTION. A factory has 900 employees, 70% of which are unionized. The union votes to go on strike, but 20% of the union members cross the picket lines. How many workers remain at the plant?

ANSWER: 396 workers (270 workers are non-union to begin with. Of the 630 other workers, 20% yields 126 line crossers. 270 + 126 = 396)

Spares

THIS IS A COMPUTATION QUESTION. A man files 10 frivolous lawsuits. 5 of them do not make it to trial, costing him $200 in fees, 4 are thrown out once reaching trial, costing him $500 in fees, and one is successful, with a verdict of $1,500 in his favor. Assuming lawyer fees average $500 per case, how much does he lose for his efforts? 

ANSWER: $6,500 ($200 * 5 = $1,000, $500 * 4 = $2,000, $500 * 10 = $5,000 – total cost $8,000. He did get $1,500 making his total loss $6,500)

What crime is defined in Article III, Section 3 of the US Constitution, requiring the testimony of at least two witnesses or a confession in open court, a crime that is the only crime specifically mentioned by name in the Constitution?

ANSWER: TREASON
Tom Canty of Offal Court and Prince Edward of Wales switch places for several days. This is the one-sentence plot of what novel by Mark Twain?

ANSWER: THE PRINCE AND THE PAUPER
In 1958, he led a New Zealand party to the South Pole. Who is this man that five years earlier reached, with his Himalayan guide Tenzing Norgay, the summit of Mount Everest, the first person to do so?

ANSWER: Sir Edmund HILLARY
This art institute was founded in 1919 in Germany by Gropius. His aim was to unify the teaching of all arts under the umbrella of design and production for the machine age. What is this school which employed Mies van der Rohe (mees van der ROW-hee), Kandinsky and Klee, among others?

ANSWER: BAUHAUS
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